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S) u U= Hull < cos(d4s), 3in(HT))
7) W= lwil - <co;czo),-s.r\c20\>

q) P=(3,2) , A <(2,7); 76=4-l,5
NP=0,"7 ) & =coum), P&= <1,2</7

15) 5¢6,20= (30,10

21)_\ {2,3>
wech, 1> -
A=2v: 242,35= 24,65~
CRESUEEVEHPEEL TP X
E:V:wé 2,35 v 24,15=<6, 4>
D=2v-w = 242,30 =44, 1>=LH4,6> L4, 1> =£0,8§2 o
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) ﬂmt vector e, where

& &) < 27
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472) Unit vector & making an angle of 4m/7  with L -axis

9 MO

= Los ("9) , sin (¥N7) D




|2 .2(11,13,19,25,27,31,49,51 )

— —>
|D Find tne point D such That W= PR has components ¢3,-2,50 Gnd skerch
V)

= |_QL/,3)
W= PR =d3,°2:3)
R-Fry
R-=F 3
{1,4,37-€3,-2,37= P
(\%37*(3 2, 3>=\’5"
{-2,6,05=P

13} V=< Y,3)22
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0 L2,4,67 poraliel becaumse has & Sealar multiple X=2

19) =245 0,35+ Y4z,
Lelh,-22,-65 448, 4, 4>

{-5,-158,-2>

27) :¢-3,1,42 V:=£b,2,5>

NoT parallel

t)

25) Y=L 4,2, Vicz, 1,55

N6T Qoralle )

3\) Unit vector in the direction opposite *o V-
(-4,4,2>

SR EERCHR >
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"(9) Find two different vector parametrizations of The line ‘fhrou?h P=(-3,1,0) witn dicection veckr

-v-<o 2,1

09 + EY

={-3,1,00+ t{0,72,1)
1,09440, -2¢,¢>

-3,
-3,1-2¢, ¢

Q(s) O P 1 25\’
{=3,1,002s4o -2, 1)
- 3,1,02%+ <01""5 s>
<{-

-3,1-4s,25)

|l 1l n o

S1) Show twed v (D&t v (5) don™ Snaergeck

0 =C-1,2,27+ 44,72, \)
~<1zz7+('-le,-z(-, t7

o (5Y= {0,1,12 + 542,0,\>
=40,1.,17%¥{25,0,5>



= < qt'l,l-Zf‘ E+2) = (23 'l'( 517
X comp. HE€-1:25=53 o

y compl 2-2t =) =2 t =2
zComp 1tz =50 =2 5=t+2-1=3/%

Becowse T sy,;wm OF Cguotions has ne selution , r(fy and T,L5)
de ot jntursect



